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Section—-A (Marks : 2 x 10 = 20)

Answer all ten questions (Answer limit 50 words). Each question carries
2 marks.

(@us-3) (3® : 2 x 10 = 20)
Tt T/ e & S ST (SW-EE 50 I8) | Yo WY 2 3 T §|
Section-B (Marks : 8 x 5 = 40)

Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.

(TUes-=) (37 : 8 x 5 = 40)
@ H § R O T & SW SN (SW-EE 200 ) | WO WA 8
H T

Section—C (Marks : 20 x 2 = 40)
Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.

(Tus—a) (37h : 20 x 2 = 40)
IR H | R S uwEl o I AN (SH-EE 500 ) | TAF G 20 3 H
7
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Section—-A (GUS-3)

(1) Give two alternative names for Management Accounting.

Y W@ % |l Jehfeqsh A9 Sy |
(ii)) What is Current Ratio ? Give its ideal value/formula.

=] STIAR F T 7 TEH AR A/HH S|
(ii1)) What is meant by ‘Funds from Operations’ ?

‘gfeTe ¥ FIW' w T SR ¥ 2
(iv) What is meant by Cash Equivalents ?

s qodi 9 71 W ® 2
(v)  What is meant by Undercapitalisation ?

STTY-GSIIERT0T T FT WA ¥ 2
(vi)  What is meant by ‘Ploughing back of profits’ ?

ol & g | e e § 2
(vil) What is the Cost of Retained Earnings ?

yfaenia teiHl &t o = ¥ 2
(viii) What is Profitability Index ?

NIRRT YAhR FN T 7
(ix) What is meant by ‘Reporting to Management’ ?

T &g Widaga 1 o3¢ ¥ T ?
(x)  State three characteristics of Linear Programming.

T HEHAT HT A faEa saEd |

Section-B (@WUs-—4)

Explain the meaning of PERT and CPM. Discuss their advantages and
limitations.
T ud W w1 Y Tasd | S oy TS 9iEisT @i e Hife |
Cost of goods sold is ¥ 4,00,000; Gross profit is 20% on sales and operating
expenses I 25,000. Calculate Operating Profit Ratio.
forepia A@ 1 @ T 4,00,000; Fhar oy fost T 20% T afEem == T 25,000
B, @ IREEE Y S i Hif |
What is a Cash Flow Statement ? How does it differ from the Funds Flow
Statement ?
U< JaE faamor 71 § ? 98 +W Yare oo 4 f& yr fi= § ?
Discuss the advantages of raising long term funds through debt as compared to
issue of shares. Under what conditions is favourable to borrow ?

319l & Tt 1 qorn § RO §R1 ShEehTed fax 9 s & o 1 faee st
1 <omed § H/O O S A wn § ?
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‘A proper reporting system is essential for efficient management.” Explain.
‘FITE Yo & o u stea afaees ymelt stavesd ¥ SEEET

Ram Ltd. issued at par 2,000, 6% debentures of ¥ 100 each. These debentures are
redeemable after 8 years at a premium of 4%. The cost of issue is I 4 per
debenture. Find out after tax cost of debt capital, assuming tax rate at 50%.

9 fa. = % 100 3 2,000, 6 Ffaew woqs §9 god W i ffd | 3 ko 8 ol
T 4 iae WiHEs R wen §1 e w6 onma 3 4 9w €1 %0 gsh S aR
TYEI ANTA |G hiteT Af X T X 50 gfawma
Discuss the essential qualities of Financial Statement.
fordta foomei & stovas O w1 A wiT

Section—C (WUS-N)
Management accounting is called ‘Accounting as a tool for management’. What
are those tools 7 Discuss briefly the functions of Management Accounting.
Yo TR i T & U UH T HE W T A T FME ? T A T
HEl 1 HET H qUH RIS |
Two alternative capital expenditure proposals, each costing ¥ 1 lakh, provide the
following expected net cash inflows :

Years 1 2 3 4 5
X T 30,000 40,000 50,000 30,000 20,000
Y < 10,000 30,000 40,000 60,000 40,000

Evaluate these proposals on the basis of :

(@) Pay-back Period Method

(b)  Post Pay-back Profitability

(¢  Return on Investment Method and

(d) Net Present Value Method

T Aehfeus Yot o7 J&amE, & i AN U el 941, 9 frfafed s Jee siaar
ST T

ot 1 2 3 4 5
X Z 30,000 40,000 50,000 30,000 20,000
Y Z 10,000 30,000 40,000 60,000 40,000

=1 sMal W 37 YISl w1 AR ST
(31) serrft erafy fafy

() SR SFafy 9ven ARl

(®) fafEm w® gem fafa qo

() & F09 qoa fafy



Use a discount rate of 10% per annum. Discount factor at 10% for various years
is as follows :

10 wfaera anfeier =gt 52 o1 w4 witeg | fafa= ast & o 10 gfoem sg1 F1E 39 TR
T

Years (a) 1 2 3 4 5

Discount factor .909 .826 751 .683 621
(922 HRF)

11. The non-current assets and equities of Rama Tools Company Ltd. are given at
the beginning and at the end of the year :
T o0 FHIT fafiee &t 9o & YR 9 o § TR-ie] 9wl ud gHard | o
T ®

April 01, March 31,
2020 2019
Q) ®)
Plant and equipment, net of dep. 2,85,000 1,37,000
(T99 W@ SR, IS 7))
Investment in share (379 # faf=mr) 5,80,000 2,64,000
Bonds payable (33 =ifved) 1,40,000 5,00,000
Share capital (79 ‘i?l"T) 8,00,000 8,00,000
Retained Earnings (9faenfia smr) 8,21,000 4,76,000

You are unable to obtain complete balance sheet or income statement data for the

year but you have obtained the following information :

(1) Dividends of ¥ 75,000 were paid;

(i) A gain on the sale of equipment of ¥ 26,000 has been included in net
income. The gross plant assets increased by ¥ 1,86,000 even though
equipment costing T 58,000 with a net book value of ¥ 38,000 was sold.

Prepare a statement of sources and use of net working capital from the
information mentioned above.

g g9 % fagr stean s foerw & Tyl SRS wra & H swEmd ¥ Ry etmuent

frefafea g=m STerss ©

() T 75,000 TN R,

(i) T TP foht | &9 T 26,000 S 39 A Fwfera fwan T 81 e g9+
Tt € 1,86,000 ¥ 9g TE €, S@fw T 58,000 T TR 1 STH TEHT TS
qws qoa T 38,000 o1, 9= = M|

IR G T I W YS FREIA Yot & Ea T ST H e s

12. Discuss the use of financial ratios to analyse the financial statement.

foxita faeror &1 favemo & & fau faxdia o U & ST W == &
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